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1 |dtxER776FHD1 W=TH 14 36
2 |db&RE776FMD 11 ME=TH 14 20
3 |[dk&kE776FHD13 MmE=TH 14 27
4 |dEKER776FHD15 Wt =TH 14 28
5 |dtKER776FHD 16 MtE=TH 14 31
6 [dbxER776FMD18 s =TH 14 32
7 |dEx&R776F#D19 W =TH 14 33
8 |dtx&p776F/mM22 ME=TH 14 34
9 |dk&kER776FMMD24 M =TH 14 30
10 |[dbx&R782F#MD 18 W =TH 14 40
11 [db&kE782FMHD19 ME=TH 14 39
12 |dbxER782F MM 20 M =TH 14 46
13 |[dtx&F783FHMD3 W =TH 14 37
14 |dtRER785F D7 Mg =TH 14 10
15 |[dtx&R786FMMD3 M =TH 14 8
16 [dt&Ef788F M2 W =TH 14 17
17 |dEx&R788FHMO MmE=TH 14 13
18 |dt&xE788F MM 10 M =TH 14 16
19 [dt&E807FHE:H D1 it —T B 7 12
20 [db&ER807HEhD2 W= TH 7 5
21 |dbt&EF807FMMD 15 M —TH 7 8
22 |dbxE8O7E D24 Wi —TH 7 15
23 |dE&ERS808FEHD 1 s — T H 7 18
24 |JLXER8O8F Hh (D 1 M —TH 7 19
25 |dLXERSO8FEH D 1 W —TH 7 21
26 [dtxERSO8FEHMD1 s —T B 7 22
27 |db&E808FMMDS s —TH 7 16
28 |db&EF808F MM 10 W —TH 7 14
29 |dbXER810FE M s — T H 12 30
30 |dLXER810FEHD 1 Mt —TH 12 28
31 |db&EE810&FEH D8 Wmits — T H 12 33
32 |d&EF810FEMMD10 W _—TH 12 1
33 [dLRERB810FMMD 10 M —TH 12 35
34 |db&KER810FEMD 13 Wit — T H 12 31
35 |db&kEF810FMD 14 Wt —TH 12 27
36 [db&ER811FEHMDS Mt —TH 12 16
37 |dtxER811&E D6 Wt —TH 12 11
38 |dLxER811&FEHMD 11 Wits — T H 12 9]
39 |db&kER811FEMHD12 M —TH 12 7
40 |dtXER811&EHD13 Wt =TH 1 57
41 [dbRER811&EHD14 it =T H 1 62
42 |dbRER811FEHD15 MmE=TH 1 1
43 |dLRE811EHD17 W _—TH 12 9
44 |db&ER811&EHD19 =T B 1 55
45 [Jb&ER813FE D1 MtE=TH 1 61
46 [db&ER813FE MM W =TH 1 58
47 |dL&RE813FEHM10 WM =TH 1 60
48 [dLXER815F Mg =TH 1 5
49 [db&ER815FHD6 W =TH 1 6
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50 |dLXxER815&FEHD7 Mg =TH 1 8
51 |dtx&E815&FHMDS Wit =TH 1 9
52 |dLX&R815&FEHM 10 Wt =TH 1 10
53 |db&EF815&F MM 11 Mg =TH 1 12
54 |dLXER816FHD 1 M =TH 1 36
55 |dLXER816FHMDS W =TH 1 20
56 |Jt&ER816&FEHD MmE=TH 1 33
57 |dtXER816FEHM 12 Wi =TH 1 14
58 |dt&kEp816F/HD 14 W =TH 1 18
59 [db&ER817 & D1 MmE=TH 1 27
60 [db&ER817FE D1 Wi =TH 1 29 SE14
61 |db&EF817&EMMD4 ms=TH 1 23
62 |db&ER817HEHDS Mt =TH 1 29 SE14R
63 |db&xER817FEMD 13 W =TH 1 32
64 |JLxER818FE D7 Wit =TH 4 37
65 |dtxER818FE MO MmE=TH 4 39
66 |dLxER818FEHM 10 WE=TH 4 41
67 |dtxER818&FEHMD 11 Wi =TH 4 43
68 |db&kEp818FE: D12 MmE=TH 4 45
69 |dtx&R818F D13 W =TH 4 1
70 |dt&RE819FE M9 Wi =TH 4 40
71 |dtRER819FEHMD 15 MmE=TH 4 38
72 |db&ER819F# D20 W =TH 4 3
73 |dLRER820FH D6 Wt =TH 5 43
74 |dL&ER820F D7 Mg =TH 5 41
75 |dt&xE820F DS W =TH 5 40
76 |dt&XE820F M9 =T H 5 39
77 |dt&ER820FHD 10 M =TH 5 38
78 |dt&RER820F D12 W =TH 5 36
79 |dLXER820F D 15 =T H 5 33
80 |JtXER820FEHMD 17 M =TH 5 30
81 |dt&KER820FEH D18 W =TH 5 29 |)—Rr—DJ7—
82 |dtx&R820FE M 20 =T H 4 8
83 |db&kER820F MM 21 Mg =TH 4 11
84 |dt&KER820FE D22 Mg =TH 4 12
85 |dtxER820FE D23 Mg =T H 4 13
86 |db&kEF820FM D24 Mg =TH 4 14
87 |dtxER820FEHM 25 Wi =TH 4 16
88 |JLXER820FEHMD 26 Mt =TH 4 17
89 |db&kER820F D27 ME=TH 4 18
90 |dtxER820FHM 28 Wi =TH 4 19
91 |db&KER820FE D29 W =TH 4 20
92 |dtxER821&FEHMD 12 MmE=TH 5 37
93 |dtkER821&FEHMD 14 Wi =TH 5 35
94 |db&Ep821&FBEHMD15 W =TH 5 34
95 |dLxER821&FEHMD 17 MmE=TH 5 32
96 [dtxER824FEHMD1 M =TH 5 7
97 |dtx&R824FE D3 WM =TH 5 14 = JS5URy—)L
98 |db&ER824F D6 MmE=TH 5 19
99 |dtxER824FH D8 M =TH 5 26
100 |dt&ER825F M1 Wi =TH 8 5
101 |dtxER825F M5 MmE=TH 8 10

2/10 R—




EEA] THEik " &
No B = RN | (RREEEEW
102 [db&kER825F D6 Mg =TH 8 12
103 |dtxE825F D7 Wit =TH 8 17
104 |dt&xE825F M8 Wt =TH 8 19 Y= —a—rEXE
105 |db&E825&HMD 10 Mt =TH 8 23
106 |dt&xE825&F M 12 Wi =TH 8 27 AT
107 |[dtxE&p825F M 14 W=TH 8 1 N PR AP FS
108 |dtRER826F D1 MmE=TH 9 12
109 |dt&kER826F M2 Wi =TH 9 14
110 |[dt k& 826F D3 W =TH 9 15
111 |[dtxE826F DS MmE=TH 9 25
112 [t &E826&FHMD 10 M =TH 9 29
113 [db&ER826F D 11 Wt =TH 9 1
114 [db&RER826FMD 12 MmE=TH 9 6
115 [k &E826&F D15 M =TH 9 10
116 [db&ER826F D17 Wit =TH 9 11
117 At XER830FE M1 MmE=TH 10 5
118 |dtxER830F D2 =T H 10 3
119 |t XE830F D4 =T B 10 7
120 |dtXE830F D7 MB=TH 10 10
121 |dt X E830F DS W =TH 10 11
122 (L& ER830F D9 Mt =TH 10 13
123 [dL&ER830F MM 11 MB=TH 10 16
124 |dt&xE830F M 12 W =TH 10 19
125 L &E830& D17 M =TH 10 1
126 |dt&ER831&FE D1 M =TH 15 1
127 [dL&ER840F D1 W =TH 16 12
128 |dtXE840FEHMD 15 =T H 16 18
129 [db&RER840FMMD 16 ME=TH 16 17
130 |db&XEF840F D17 =T B 16 16
131 |dt&xE840F D18 =T H 16 15
132 [dbRER840FM D19 ME=TH 16 14
133 |[db & & 840&FE D20 =T B 16 13
134 |dtXE844FEHMD15 W =TH 16 9
135 [db&ERQ06F D1 Mg =TH 11 6
136 |dtXERQ06FE D 2 Mg =TH 11 9
137 |dtXEQ06FE D 3 W =TH 11 11
138 [db&ERQ06FH D4 Mg =TH 11 12
139 |dt&xER906FE D5 Wi =TH 11 14 AU U MHA-B
140 [dLRERQ06FEHD 10 W =TH 11 24
141 [t X EBQ06FEMMD 13 ME=TH 11 32
142 b X EQ06&FEHMMD 15 Wit =T H 11 36
143 [db&RERQ06FEMMD 19 W =TH 11 45
144 |dt&XEQ06F D21 MmE=TH 11 48
145 [t XEBQ06FE D22 Wi =TH 11 1 G5 T KEA
146 |dLXERQ07FEH MDA W =TH 7 5
147 AL XEQ07&FEHMD 3 MmE=TH 7 9
148 L XEQ07&H D4 M =TH 7 12 IRTI—)LB
149 [dL&ERQ07EHDS Mt =TH 7 14 /X\—493—kB
150 |dt K& Q07 & D6 MmE=TH 7 16
151 [dL&ERQ07FE D9 W =TH 7 22
152 [dL&ERQ07FHD 10 Wi =TH 7 24
153 [dLRERQ07E D 11 MmE=TH 7 28
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154 |dbKEFQO07&HE D12 Mt =TH 7 32
155 |db X EQ07 &M 14 Wit =TH 7 36
156 [dLRERQ07EMMD 15 Wt =TH 7 38
157 [t XEBQO7HE D16 Mg =TH 7 41 N—93—FA
158 [dLRERQ07E MM 17 Wi =TH 7 44 IRXTT—ILA
159 [db&KERQ07 &M 18 W =TH 7 46 IVRET7T—TR
160 [db&RERQ07EMMD 19 MmE=TH 7 48 Hot—)L
161 [dLRERQ07EH D20 Wi =TH 7 1 LT URIN—DH AR
162 |dtxEQ08FE (D 2 W =TH 6 9] +L—/F
163 |dtxEQ08FE MM 4 MmE=TH 6 18
164 [db&ER908F D6 Wi =TH 6 22
165 |dtxEQ08F D7 Wt =TH 6 26
166 |dtxEQ08FE M8 MmE=TH 6 29
167 |[db&EQ08&FEHMD 10 M =TH 6 32 Y ——EJLAEXE
168 [db&ERQ08FE MM 11 Wit =TH 6 34
169 [db&KERQ08FE MM 11 MmE=TH 6 35
170 |dLXEQ09FE D 3 =T H 3 10
171 |dE X EQ09FE D6 Wi =TH 3 16
172 AL XEQ09FE D 8 MtE=TH 3 19 IVRETFC
173 [dLXERO09FE D9 =T H 3 20 IVAETB
174 [t &ERQ09F D13 Wi =TH 3 32 IVRETA
175 [dLKERQ09FHD 13 MmE=TH 3 36 JLSI—/LILEB
176 [dLRERQ09EMMD 14 W =TH 3 34 JLEI—/LILEA
177 [t XEBQ09E D18 Wt =TH 3 43
178 [t & ERQ10FHD 3 i =TH 4 30
179 AL X&BQ11F D2 W =TH 1 52 T |7Ta—L
180 |dtX&B913F D2 it —TH 7 24
181 [dLRERO14FHDA Mt —TH 11 27
182 |k XE914&HhD2 mts — T H 11 2
183 [db&RER914FEH D2 it —TH 11 3
184 |dtRER Q14T D2 Mt —TH 11 9]
185 |t &XE914FHhD2 it — T H 11 6
186 |dtX&BO14F D2 W _—TH 11 7
187 |dtRE Q14T D2 Mt —TH 11 28
188 |dtXERQ15F D1 Mg =TH 2 7
189 |dt K& O 15F D4 W =TH 2 11
190 [db&RER915FMD5 ME=TH 2 13
191 |dt&E915&F D8 Wi =TH 2 26
192 |dtXEQ15F D9 W =TH 2 27
193 |dtXEQ15F D10 Mt =TH 2 28
194 |dt & 915D 12 Wit =T H 2 31
195 [dbRERQ15FMD 14 W =TH 2 32
196 [dLRERQ15FMD15 MmE=TH 2 1
197 |dbRERO16FEH D1 Wmits — T H 10 11
198 |dt&xE916FH D2 Wts — T H 10 14
199 |[dtx&BO16F D4 M _—TH 10 17
200 |dt&EF916FEHMD5 Wt —TH 10 27
201 |[dtEE916FEHMD7 Wt —TH 10 34
202 |dL&ERO16FEHD7 M —TH 10 35
203 [db&&R916EHD7 Wit — T H 10 36
204 (L &ERQ16FEHD7 Wmits — T H 10 38
205 [dL&ERQ16EHD7 Mt —TH 10 40
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206 [dL&&R916EHD7 Mt —TH 10 41
207 [dbxERQ16FEHD7 Wmits — T H 10 43
208 |dL&ERO16FEHD7 Wi _—TH 10 45
209 |dLREO17FEH®D3 ME=TH 12 6
210 [dL&ERQ17&HhD7 Wi =TH 12 1
211 [t &EFQ17FHDS W =TH 12 9
212 |dt&E918&FEHMD3 Mg =TH 12 20 YT UM
213 [t X&918FMD3 Wt =TH 12 23 Y- DaToMmis
214 |t &xE918F D7 Mtk =TH 12 16
215 |dtxER942F D7 fintd—TH 10 30
216 [dL&x&f942FHD 12 niti—T H 10 36
217 |dLRE942FEHD 13 it —T B 10 39
218 |dtxEf942FEMD 14 fintd—TH 10 41
219 [t &&f942FHD 16 iti—T H 10 26
220 |dtExEQ42FEH D17 fnits—T B 10 24
221 |dbLKERQ42F M 18 fiatd—TH 10 23
222 |dLREQ42FEH D23 it —T B 10 38
223 |t XER944FHD 4 initi—T B 10 12
224 (L XEROS3FE /D 1 fatd—TH 17 46
225 |dLREO54FE /D3 it —TB 17 33
226 |t XERO54F D4 fnits—T B 17 32
227 |t XERO54FE /DS fatd—TH 17 30
228 |dLRERO54FE D6 it —TB 17 24
229 [dL&&R1005&F D5 iiti—T H 17 20
230 |dtEE#F1005F D8 fati—TH 17 18
231 [dLXEB1140FH D6 W =TH 12 34
232 [dLXER1140FHhD7 =T H 12 37
233 |db&E1140FHm D8 ME=TH 12 39
234 |dLKER1140FHD 25 =T B 12 47
235 |dt&ER1140F# D38 W =TH 12 44
236 |db&ER1140F D41 ME=TH 12 53
237 |dLKER1140F#D43 =T B 12 56
238 |dt&xER1140FHD47 W =TH 13 3
239 |db&#ER1140F D48 Mt =TH 13 8
240 |dLRER1140FH D51 Mt =TH 13 12
241 |dL&KER1140FH D52 W =TH 13 20
242 |db&ER1140FH D53 Mg =TH 13 22
243 |dLRE1140FHD 70 Mt =TH 12 36
244 |finithET 1 Fih s — T H 9 26
245 |fntEET3H/H D2 Mt —TH 9 28 e TA
246 |fetiET3F/E D7 Wits — T H 9 29
247 (MrEEET3FHhD S s — T H 9 25
248 |fntiETAF/H D 1 M —TH 9 31 IN—D 7 —MMa# 1
249 |MEETAFEHD 2 Wt —TH 9 32 IN—D 7 —MMa# T
250 |MadsET S &M Mtk =TH 12 61
251 |MisET5 &t Mg =TH 12 64 T A4NA LR TR E
252 |fntiETSH/H D2 W =TH 12 74
253 |fntiET6 & i W —TH 9 7
254 |fnitlET 7 Fith Mt —TH 9 9 a7 40— s
255 |fintsET 1 3% i Wit — T H 9 71
256 |fntsET 1 67 i Wmits — T H 9 12
257 |fatsET 17 & M —TH 9 78
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258 |fHiET 18 &1 Wit —TH 9 1
259 |fintaET 207 iy Wmits — T H 8 16
260 |fintiET2 1% Mt —TH 8 13
261 |finitslET 227 i Wit — T H 8 10
262 |MtiET23F D1 Wits — T H 8 1
263 |ftEET23F D2 Mt —TH 8 8
264 |ftLET23F D3 Wt —TH 8 35
265 |f#kET23F D4 Wi —TH 8 5
266 |fntiET 242 1 M —TH 7 31 ) )z—)LREB
267 |fRikET25F D 1 Mt —TH 7 37
268 (kBT 25F D2 Wit — T H 7 39
269 |ftiET25F D3 Wt — T H 7 40
270 |fintiET 267 Mt —TH 7 46
271 |[fritkBT26F D4 Wit — T H 7 43
272 |HBET26F D5 Wi —TH 7 41
273 |ftsET 28 % Hh Mg —TH 7 52 T |USVAYY
274 |fatiET 297 Hh W _—TH 7 1
275 |RHEET30F D 2 Wit — T H 6 5
276 |fR#kET31FHh D1 Mt —TH 6 10
277 (Mo#EET3 1D 1 s —TH 6 11
278 |fRisET31FHh D 1 Wit — T H 6 12
279 (MR#sET31FEHh D 1 Mt —TH 6 13
280 (fR#kET31&E D1 Mt _—TH 6 14
281 [fRisET31FHh D 1 Wit — T H 6 15
282 |ftiET31 & HhD 3 Wmits — T H 6 9
283 |MiRET32FHh ) 1 M _—TH 6 16
284 |MHET32F D1 Wi —TH 6 17
285 |fritkET32FH (D)2 Wmits — T H 6 18
286 |fiRET33EHh D 1 M _—TH 6 26
287 |MiET33F/ M D2 it —TH 6 21
288 |MtiET33F D 3 Wmits — T H 6 25
289 |fintET 357 Hh M —TH 5 12
290 |firitkHET 367 H s —TH 5 16
291 [fRisET 367D 1 it — T H 5 14 JLST—)LILEC
292 |fiaikkHT 37 & Mt —TH 5 18
293 |fintiET 38% Hh Mt —TH 4 8
294 [fa#sHET4 0% Wit — T H 4 16
295 |finitslT4 12 Wi —TH 4 19
296 |fnikET42F 0D 1 Mt —TH 4 32
297 |fhiskBT42FEH D5 Wit — T H 4 34
298 |friskET42FHh D6 M _—TH 4 35
299 |MtRET42F D7 Mt —TH 4 36
300 (fRkkET43F D 1 s _—TH 4 43
301 |fRiskET43F D2 Wmits — T H 4 41
302 [finikHET 458 H Mt —TH 4 1
303 |fintiET 4 67 Hh Mt —TH 5 30
304 |MREhET47 i Wt —TH 5 36
305 |MtET47 & D2 Mt —TH 5 32
306 |fintiET4 8% Hh s —T B 12 7
307 |fMRikET49F D3 Wit — T H 5 38 IILT«4LEFRAL
308 |finitiET 507 iy Wmits — T H 5 3
309 (fR#kETS53F D 1 Mt —TH 6 38 A2
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310 |HntiET 53 D1 Wt —TH 6 39 7—/\>a—kB
311 |MAEETS3FFH D 1 W —TH 6 40 F7—/\>a—hkC
312 |ET53F D 2 Mt —TH 6 41 F7—/\>3a—kD
313 |HET53F M 2 s _—TH 6 43 F7—/\>a—kE
314 |MEETS3IF M D2 W —TH 6 45 F—/\>a—hF
315 |fRtiET 54 & Hh M —TH 6 1
316 |fntiET 557 Wt —TH 1 5 = FRINVA
317 |HET56 & D2 Wmits — T H 1 13
318 |MitiET56F D 3 Mt —TH 1 14
319 (MhikET56&E D4 Mt —TH 1 15
320 |MREAETS 7 Fith Wt —TH 1 17
321 |fintiET 5 8% iy Wt — T H 1 21
322 |fintaET59% Mt —TH 2 9
323 |fintiET6 0Z iy Wit — T H 2 12 Y7+ AR
324 |fnitslT6 12 i Wmits — T H 2 14
325 |fintiET 627 1y M —TH 2 17
326 |MREkET6 3% Wt —TH 2 19
327 |MmtiET6 3% Hh Wt —TH 2 20
328 |fihikHT6 3% Mt —TH 2 21
329 |fintiET 637 Hh Wt —TH 2 22
330 |fntiET64 2 iy Wit — T H 3 9] AE)—UA T
331 |MiRET6 5 1 M —TH 3 13
332 |fMhitkET65FE D2 Mt _—TH 3 14
333 [fhitkET66FH D) 1 Wit —TH 3 15
334 |mET66&F D2 Wi —TH 3 16
335 |MmitET66F M4 Mt —TH 3 17
336 |MiiET66F/ /DS it —TH 3 18
337 |MRdET68F Wt —TH 3 30 1) j—)LREA
338 |MiRET69ZEHh D 1 M _—TH 3 32
339 |MmitkET69FE D 2 it —TH 3 34
340 |MtiET69F D 3 Wi —TH 3 35
341 (fiaikkHET7 1% e —TH 3 1
342 |fatiET 71 &/ HD2 W _—TH 3 3
343 (MR#sET71&EH D3 Wi —TH 3 2
344 (kBT 72FHh D 1 Mt —TH 2 30
345 |fmitkET72F D2 Mt —TH 2 31
346 |finitslT7 3% i Wit — T H 2 32 = L# /3L AFlower
347 |faisET7 42 W _—THB 2 1
348 |fintiET 7 5% M —TH 1 29
349 |MAEAET7 6% Wt —TH 1 34
350 |faikHT7 73 Wits — T H 1 39
351 |fintllT 7 8% Hh M —TH 1 41
352 |fnitiET 79&F D1 W _—TH 1 45
353 (kBT 79FE D2 Wi —TH 1 1
354 |MtEET79F D5 M —TH 1 43
355 |fhitkET79&E D6 Mt —TH 1 3
356 |finitiET80Z il niti—T H 14 6
357 |fRikET81 & D 1 fati—TH 14 11
358 |fintiET 8 2% Hh s —T B 14 15
359 [fRitkET84FEHN (D 1 Witi—T H 14 26
360 |fntiET84F D2 fnits—T B 14 22
361 |frikET84 (D3 fiai—T B 14 21
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362 |fhitkET84FE MDA iti—T H 14 28
363 |finitiET 8 5% il fnits—T B 15 6
364 |fintiET 867 Hh s —T B 15 12 Y——a—F
365 |fiRikET8 7D 1 initi—T B 16 5]
366 |fREkET87&FE D2 fniti—T B 16 7
367 |MtEET87 &M 3 fiatd—TH 16 6
368 |MntiET88FE M1 it —T B 16 10
369 |fnHiET88FE M2 niti—T B 16 9
370 |fRtaETO 3% iy it —T B 16 35
371 |fatiETO 3% Hh s —T B 16 36
372 |fatiETO 3% Hh niti—T H 16 37
373 |fRtaET O 3% Hh fnti—T B 16 38
374 |fntiETO5F Hh s —T B 15 22
375 |faitiETO 6% iy iti—T H 15 28
376 [fai#kHETO7 & fnits—T B 15 1
377 |fatiETO 8% Hh s —T B 14 18
378 |fintiET 9O F Hh it —T B 14 34 a—Rt74—0
379 |MEET 101D 1 initi—T B 13 9]
380 |ftET 102 fatd—TH 13 13
381 |MiET 103 & Hh D 1 fats—T B 13 15
382 [fRithET 1042 i#h fnits—T B 12 1
383 |fntET 106F fatd—TH 12 14
384 [fRi#LET 1077 ih it —TH 12 17
385 |fintiET 108 & iiti—T H 12 22
386 |fntiET 109 fnits—T B 12 26
387 |fR#ET110FHhD 1 fiatd—TH 11 5
388 |MntiET 1115 it —T B 11 10
389 |MRikET111F D2 fnits—T B 11 12
390 |fRi#sET111FHD3I fiatd—TH 11 13
391 |MatiET 11281 it —T B 11 14
392 |MRHET 1131 fnits—T B 11 17
393 |fRitsET117FHD6 fiatd—TH 11 38
394 |fRiRET117&HhD7 it —T B 11 39
395 |fRitsET117&HhD8 initi—T B 11 40
396 |MRiRET117&FEHD10 fati—TH 11 36
397 |fMR#ET119FHhD1 fintd—TH 12 33
398 |MitiET119F D3 initi—T B 12 31
399 |fatlET 121 % inits—T B 12 10
400 (finfiET122%H s —T B 13 23
401 |(RERET123F D2 initi—T B 13 30
402 (MRFRET124F D2 fnits—T B 13 1
403 (fRRAT124F D2 it —T B 13 32 4T T
404 |fnEET 1267 it —T B 7 1
405 |fOHEET 128 i niti—T B 7 14
406 |fiRiiET 1297 it —T B 7 17
407 |fR#%ET129F D1 fintd—TH 7 17
408 |fin#sET 1307 niti—T H 8 0]
409 [finfiET 1317 fati—TH 8 10
410 (finfiET 1327 s —T B 8 11
41 |fafiBET 1358 Witi—T H 8 32 mPpESs
412 |fipfiET 1367 fnits—T B 8 29
413 |fnfiET 1377 s —T B 8 20
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414 |HHEET 1378 ih iti—T H 8 22
415 |finfiET138F i fnits—T B 8 28
416 |finfiET 1397 s —T B 9 1
417 |ARHEET 1398 #h initi—T B 9 23
418 |MEET139F D2 fniti—T B 9 10
419 |MHEET139F/ /D5 fiatd—TH 9 5
420 (fR#EET140%H it —T B 9 6
421 [fR#RET140%FH fiti—T B 9 8
422 |fRiEET145%H it —T B 4 22
423 |HHEET 1463 s —T B 4 13
424 |HREET 1472 niti—T H 4 8
425 |MOHEET148F D3 fnti—T B 5 24
426 |fRi%ET148F D5 fintd—TH 5 28
427 |MHEET 1408 #Hh iti—T H 5 15
428 |friET 150 fnits—T B 5 10
429 |MAEET152FHhD2 fiatd—TH 6 27
430 (fR#RET153F D1 it —T B 6 28
431 |MHEET153F D2 initi—T B 6 30
432 |MYHEET154F D3 fatd—TH 6 21
433 |MHEET154F D4 fats—T B 6 18
434 |MHEET154F D8 fnits—T B 6 20
435 (MRIRET154F D 11 fatd—TH 6 19
436 |(RIEET154FHD15 fintd—TH 6 16
437 |fR#RET155%FH fiti—T B 6 14 O —7R
438 |fniiET 1567 fnits—T B 6 12
439 |friEET157 2 s —T B 6 9
440 |fREET158%H it —T B 6 1
441 |MYHSET159F M 2 fiti—T B 6 43
442 |MYHEET159F D4 fiatd—TH 6 41
443 |fR#RET160F D1 it —T B 6 32
444 (MRIRET160FMD2 iiti—T B 6 36
445 |friEET 1612 i —T B 5 1 = 75 E—RT7EA LY
446 |fHHEET 1627 fats—T B 5 47
447 |MHEET163FHD 1 initi—T B 5 41
448 |MHEET163FHD2 fati—TH 5 46
449 |MHEET163FHMD3 fintd—TH 5 44
450 [fR#RET164 2D initi—T B 5 36
451 |MtEET 164/ HD5 inits—T B 5 33
452 |MtEET164FHD6 fintd—TH 5 32
453 |MtEET166F#hD 1 initi—T B 3 11
454 |MtEET 166/ D2 fnits—T B 3 8 JTJLRE—/LIRE
455 |fRtEET167 D1 fiatd—TH 3 1
456 |MRESET168FHh D2 it —T B 2 25
457 |MEET169FHhMD 1 niti—T B 2 21
458 |MEET169F D4 fatd—TH 2 8
459 |fR#%ET169F D5 fintd—TH 2 16
460 |MEEET169FHD6 niti—T H 2 13
461 |M#SET170FH D1 it —T B 2 9]
462 |MAHEET170F D4 fintd—TH 2 3
463 |faihET 1713 Witi—T H 1 17
464 |fRiiET1713H fnits—T B 2 1
465 |MHEET171 & HD6 it —TH 1 17

9/10 R—




EEA] THEik " &
No B = RN —  EREEEEH)
466 |RtLET 3637 iti—T H 17 1
467 |MHEET363F /D2 fnits—T B 17 10 =HRE
468 |fniEET3697Hh s —T B 4 77
469 |HERIR428FMD2 iti—T B 1 13 SRNA(YUB
470 |BHRIR428F D2 fniti—T B 1 14 SRNAYA
471 |BER429FH D3 fiatd—TH 1 3
472 |BERIR429FBHD 4 it —T B 1 2
473 |BEHIR429F D7 niti—T B 1 8
474 |HEIR4290FH DS fatd—TH 1 1
475 |BERR429FHD 11 fd—TH 1 6
476 |BEIR429FHD13 niti—T H 1 11
477 |BEEIR429FHD15 fnti—T B 1 10
478 |5 R171&HhD6 fintd—TH 1 24
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